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La altura del edificio es de 29´0287 m. 

 

35) 

El avión está a una altura de 11´6119 km.  

( )

( )

km16191130tg3329619h

3329619
20tg30tg

20tg50
x

x20tg30tg20tg50

20tgx30tgx20tg50

30tgx20tgx20tg50

30tgx20tgx50

x50

30tgx
20tg

30tgxh
x

h
30tg

x50

h
20tg

´º´

´
ºº

º

ººº

ººº

ººº

ºº

º
º

ºº

º

=⋅=

=
+

⋅
=

+=⋅

+=⋅

=−⋅

=−

−
=










=→=

−
=

 

 



 

 12 

Pág. 163, 

1)  

 

64261tg

85420sen

667758520

agudoesy520a

´

´

´)´arccos(

.´cos)

=

=

==

=

α

α

α

αα

 

 

1b y 2 

 

 


